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(@ 471.03

(b)Y iy 471

(i) 4.71%10% or4.71028x10? or 4.7103 x 102

Answers: (a) 471.03

(b) () 471

(i)  4.71%10% or 471028 x 10% or 4.7103x 102

(8 2J+3C=595

(b) 2x215+3C =595
3C =165
C =0.55

Answer: (a) 2J4+3C=595

(b) 55 (pence) or £0.55

(@) 5.5

_443+a+8+7+3+9+5+8+3

55=50+a

S5=a

(b) 373’3’4’5!5,7!8’8)9

Median =5

10
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(Al)
(Al)
(A)(AD)
(Cl)
(C1)

(€2

(42)
(MI)
(A1)
(C2)

(C2)

(M1)

(41)

(M1)

(41)

candidate’s a

Note:  Award (M1) for arranging scores in ascending or descending order. Follow through with

Answers: (a) a=S5

) 5

(C2)

(C2)



-7- M99/530/S(1)M
5 2 1y (4 2
(a) x(_3 2)—(_6 4) (Al)
2 -3 4 -1 5
o (535 o
Note: In parts (a) and (b), all 4 elements must be correct for (41)
2 1 -3 4y (-3 8 42
© 15 2)" 30 '(15 12 (42

Notes: Award ¥ mark for each element, and round down.
Award (M1} for correctly calculating BA.

A : 42 (Cl
nswers: (a) 6 4) '}
b [ ci
(b) 0 2} (C1)
-3 8 -
@ s —12J
(a) (i) 1§ (Al)
() 2+3=5 (AD)
(i) 8+4+6+4=22 (A1)
(b)
G T
S
(A1)
Answers: (a) (i) 11 (C1)
(i) s (C1)
(i) 22 (Cl)

(b) See diagram (Cl)
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(a) gradient= :31 or =133 (3s.f) {Al)

-4
(b) y=7x+4 (A1)

OR 4x+3y-12=0

OR equivalent form

Note: The y-intercept must be 4, allow follow through from part (a)

-4
(c) y=Tx'"4 M)

Note: Award (M1) for y-intercept as -4

4x+3y+i2=0o0r %x+y+4=0 (A1)
—4 :
Answers: (a) Y or =133 (3s.f) (Cl)
—4
(b) y=—3—x+4 ordx+3y-12=0 (C1)

(c) 4x+3y+12=0o0r %x+y+4=0 (C2)



(a) a=100 d=25
T, =100+(17-1)x25

=500
(b) S, =Z(a+l)
2
S, =%(100+500)

=5100

Note:  Allow follow through from candidate’s answer for T,,, which is /

OR

S, =-’23{2a+(n—1)d}

S =]—27-{2><100+(17—1)x25}

=5100
OR
Table
Answers: (a) $500

{(b) $5100
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(M1)

(A1)

(M)

(Al

(M1)

(A1)

(C2)

(C2)
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(a)
450 m
23°
x
(M1)
Note:  All three (23°, x, 450) must be labelled and in correct position for (M1)
(b) tan23° = 4155_0 (MI)
Note:  Follow through from candidate’s diagram
450
¥ an23 (M)
x=1060.13...
x=1060 (3 s.f) {Al)
Answers: (a) See diagram (CI)
(b) 1060 (C3)
(a () 023 (A1)
(i) 021+0.15=036 (Al)
Note: Accept equivalent answers
(b 1200x0.23 M1
=276 (A1)
Note: Follow through from candidate’s answer in part (a)(i) |
Answers: {(a) (i) 0.23 (Cl)
(i) 0.36 (Cl)

(b) 276 (C2)



10.

11.

12,

-11-=

(@ g'(x)=x+50ry=x+5

(6) (i) f(=3) =2x—3+3
=-3

(i) (fe@)(x) =2(x-5)+3
=2x-7

(fog)(6) =2x6-7
=5

Note: Award (M1} for calculating g(6)=1

Answers: (a) g '(x)=x+5

d @H -3
(i) 5
(a) 16.5< length <17.5

(b) minimum area=16.5%7.5

=123.75

Note: Award (M1) for 7.5

Answers: {a) 16.5=length<17.5

(b) 123.75

(a) N=150%x2°=150
(b) N=150x2%=1200
(c) 19200 =150x%2'
128 =2
7=t
Answers: (a) 150
(b) 1200

) 7
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(A1)

(A1)

(M1)

(A1)

(Cl)
(Cl)

c2)

(AI)(AD
(M1)

(A1)

(C2)

(C2)

(A1)
(A1)

(M1)

(A1)
(C1)
(C1)

(C2)



13.

14.

-12=

(a) (see diagram)

(b)

Relationship between leaf length and width

70 1

L a

0 20 40 60 80 100 120 140 160
Length (mm)
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(A1)

(42)

Notes: (a) Award (41) for the point M.

(b) Award (A1) for a line of best fit going through A and (41) for a reasonable line of best fit

(¢} Leaf length and leaf width are positively correlated
Answers: (a)  See diagram
(b)  See diagram
(¢)  Leaf length and leaf width are positively correlated

x=0
y>1

1
L==x+4
=73

Note: Accept equivalent formseg x+2y<8,4x+8y<32

Answers: x20
y>1

1
ys~5x+4 orx+2y<8ordx+8y<32

(R1)
(Cl)
(C2)
(Ch)

(41)
(A1)

(42)

(cl)
cy

2



15,

16.

- 13-

(a) YA

S 4

Notes: Award (41) for correct 5:4 and (A1) for correct A-)B
If there are no arrows on the vectors award (41) only for both correct

(b) length OB =/37 +(—4)?
5

OR

OB=12)" )%\«
length OB=+3" +(—4)’
=5

Answers: (a) Seediagram

(b 35

A=C(1+L)
100

2
125:100(1+L)
100

2
1.25=(1+L)
100

1118033981 = ——
100
r=118% (3 s.f)

Answer: 11.8 %
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(42)

(M)
(A1)

(M1)

(A1)
(C2)
(C2)

(M)

(M1)
(M1)
(A1)

(C4)
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17. (a) % or 6 % or0.06 (Al)
(b) -;l—g- or % or90% or 0.9 (Al)

16 &
(c) T or -é— or 0.889 (3 s.f) {A2)

Note: Award (A1) for 16 and (41) for 18

Answers: (a) 53—0 or 6 % or 0.06 (Cl)
(b) %5)- or % or 90 % or 0.9 (Cl)
16 8
— or — or 0.889 c2
(¢) 3 or 5 or (C2)
18. (a) h
A
20 /
j s
As
4 3 .2 - 1 23 4 5 6
1 [ | L1 1 1 1] (AD)

(b) () x=-=2 {Al)
x=4 (AD
(i) x=1 (AD

Note:  Allow follow through from candidate’s graph

Answers: (a) See graph i)
® O -2,4 (C2)

() 1 (Cl)
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19. (@) (4B =180-2x23° Ml1)
=134" (Al).
AB 15
b = Ml
®) sin23°  sinl34° (M1)

Note:  Follow through with candidate’s answer from (a)

B = lSlsin 23°
sin134°

AB =8147702831...

=815 (3s.f) (Al)
Answers: (a) 134° (C2)
(b) 815 (C2)

20. (a)

40° N

Equator

(42)
Note:  Award (41) for 145" marked, and {(41) for both A and B correctly marked

. 145

(b) distance =——x 30800 (M)
360

=12405.55...
=12400km (3 s.f.) (A1)
Answers: (a) see diagram : {(C2)

(b) 12400km (C2)
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